
  

(DENG 1) 

B.A./B.Com./B.Sc./B.B.M./B.B.A./B.H.M. DEGREE EXAMINATION, DEC. - 2015 

(Examination at the end of First Year) 

Part I - ENGLISH 

Paper - I : General English 

Time : 03 Hours Maximum Marks : 70 
 

                               Section - A (5 × 1 = 5) 

1) a) Read the following passage and answer the questions that follow : 

  Rules or laws are, therefore, drawn up to ensure that members of the society may live and 

work together in an orderly and peaceable manner. The large the community, the more 

complex and numerous will be the rules. If the rules or laws are broken, compulsion is used to 

enforce obedience. Two ideas are concept of law: (1) order, in the sense of method or system, 

and (2) compulsion, i.e., the enforcement or obedience to the rulers or laws bid down. 

i) List out the two ideas that underlie the concept of law. 

ii) What is the passage about? 

iii) Suggest a suitable title for the passage. 

iv) What did man do in primitive times? 

v) Why rules or laws, are drawn up? 

 b) Read the following passage carefully and answer the questions that follow by choosing the 

right answer. (1 × 4 = 4)  

  I have last my job. It was a good job, too. All I had to do was sit in the shop throughout the 

day and sell saris and cholipieces: that was all we sold. They were very good saris and 

cholipieces, specially woven in Mr. Ratnam‟s little mill in Bangalore and only sold in 

Bombay through the shop run by me. 

i) How long does the speaker suppose to sit in the shop? 

1) during the afternoon 

2) during the morning 

3) throughout the night 

4) throughout the day 
 

ii) What is the name of the mill that was mentioned in the passage?  

1) Mr. Ratnamani 

2) Mr. Ratnam 

3) Mrs. Ratnam 

4) Ms. Ratnam 



 

iii) What did the speaker of the passage lose? 

1) Job 

2) Name 

3) Money 

4) Fame 

iv) Where does the speaker sell the saris and cholipieces? 

1) Hyderabad 

2) Delhi 

3) Bangalore 

4) Bombay 

v) What were the items sold in the shop? 

1) Pants and shirts 

2) Saris and cholipieces  

3) Saris and pants 

4) Saris and shirts 

  

2) a) Correct the following sentences : (5 × 1 = 5) 

i) The news are true. 

ii) They are living in Tirupati since 1909. 

iii) I have visited Hyderabad last month. 

iv) Godavari is a sacred river. 

v) I have written a letter yesterday.  

 b) Rewrite the sentences as directed : (5 × 1 = 5) 

   i) I will take milk tomorrow. (Change into passive voice) 

   ii) Srivani is a good woman. (Add a question tag) 

   iii) The master said “Honesty is the best policy”. (Change into Indirect speech) 

    iv) Teja has been suffering with fever since Sunday. (Use appropriate preposition) 

  v) Chennai is the greatest city in India. (Change into positive degree) 

 

 c) Change the following into direct speech (2 × 1 = 2) 

  i) Mother asked her son where he was going. 

  ii) The servant reported that tea is ready. 

 
 

 d) Fill in the blanks with correct forms of verbs given in brackets. (5 × 1 = 5) 

  i) Teja _____ (meet) him tomorrow. 



 

  ii) Venu _____ (receive) the letter a week ago. 

  iii) I _____ (finish) my home work. 

  iv) They _____ (sell) this car for sure. 

  v) She _____ (be) in hospital for six months by the end of July. 

 e) Fill in the blanks with suitable words given at the end of the list. (5 × 1 = 5) 

  i) The boy _____ every morning from five to seven. 

  ii) Delhi _____ the capital city of India. 

  iii) The Government is trying to reduce _____. 

  iv) It rained _____. 

v) A triangle _____ three sides. 

 (reopens, heavily, poverty, is, studies) 

 

 f) Rewrite the following set of jumbled sentences to make them into a coherent passage. (3) 

  i) He had no money. 

  ii) He did not go in. 

  iii) My grandfather‟s portrait hung above the mental piece in the drawing room. 

  iv) He has an efficient man of justice. 

  v) Sher Singh always felt shy even in his house. 

 

 g) Attempt a dialogue between two friends discussing about the price rise in the state.   (3)  

 h) Write a paragraph using the following hints.  (3) 

  The role of advertisement in sales – types of ads – purpose – cost involved – a burden to the 

customer or an advantage. 

 i) Write in about 100 words on any one of the following : (3) 

  1) Sound pollution. 

  2) Fast foods. 

   3) Influence of cinema on society.  
 

Section - B 
 

3) Write an essay on any ONE of the following : (1 × 5 = 5)  

 a) Describe briefly how Nehru spent his days in prison. 

 b) Narrate in brief the attempt of the people to catch the snake. 

 c) How the lovers did come together ultimately in lovers Reunion? 
 



 

4) Write short notes on any three of the following : (3 × 3 = 9)  

 a) What is the central idea of the poem, “Sonnet to Science”. 

 b) Describe the express in your own words. 

 c) What is the effect of the piano on the Africans? 

 d) Summarise John Masefield‟s poem „Laugh and be Merry‟. 

e) Why it is difficult to kill a tree? 

 

5) Write an essay on any one of the following : (1 × 5 = 5) 

 a) What is the theme of the story, the Refugees‟. 

 b) Narrate briefly the story of the fortune Teller.  

 c) What is the theme of the story, “The Gold Watch”. 

6) a) Explain any Two of the following : (2 × 2 = 4) 

  i) In the solitute of prison  I shall think of you a great dad.  

  ii) No, it‟s a kind of rheumatism she gets sometimes.  

  iii) You ask, what is our aim? I can answer in one word. It is victory. 

 b) Explain any one of the following : (1 × 4 = 4) 

  i) God made heaven and earth for joy. 

  ii) All is, if I have grace to use it so, an ever in my hard task Master‟s eye. 

 

 



 

 (DTEL 1) 

B.A./B.Com./B.Sc./B.B.M./ B.B.A./B.H.M. DEGREE EXAMINATION,  DECEMBER - 2015 

(Examination at the end of First Year) 

Part – I : TELUGU 

 Paper – I : Poetry, Novel and Grammar 

Time : 03 Hours                                                          Maximum Marks : 70 

A°² {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯éË$ Æ>Ä¶ý$…yìþ. 
 

1)  D ¶Mìü…¨ ç³§éÅËÌZ JMæü §é°Mìü {ç³† ç³§éÆæÿ¦ ™é™èþµÆ>ÅË$ Æ>Ä¶ý$…yìþ.                                                  (6) 

 a) Ñç³È™èþ{ç³†¿êçÙ ÌôýÑ$sìýMìü ¯@þ$ÈÓ¯é£æþ! ÆÿÊç³#[™èþ¢V>  

  {™èþç³ÇçÙÓ…Væü çÜ$Q…º$ õÜMö¯@þ$Ð@þ¬ Ð@þ¬M>¢àÆæÿ MæüÆæÿ*µÆæÿ Ýë… 

  {§æþç³Æ>Væü{ç³çÜÆæÿ…º$ —f…§æþ¯@þÐ@þ¬ —f…{§æþ gZÞ™èþÞü² Ä¶ý¬…º$[™èþ¢V> 

  {™èþ ç³ÇçÙÓ…VæüÐ@þ¬ ¯@þr$Ï iÐ@þ#ËMæü$ çßý–§æþÅ…»ôýMæüyæþ$¯Œþ Ö™èþÐóþ$.     

 b)  ò³…õ³§æþ¯Œþ §æþÐ@þ$Mìüsìýt ™èþMæü$PÐ@þË$ Ææÿ*í³…ç³…Væü ¯óþÌê?  Ñ^é 

   Ç…ç³¯Œþ ÐéÇMæü Ðóþ$Ë$ çÜ…«̈ §æþÐ@þ¬ ÐéÇ… l_¯@þ…§éÆæÿ$ Ýë 

   «̈ …ç³…gêËÆö? M>Mæü´ùÆæÿ —§æþVæüÐ@þ$Çª…ç³…§æþË…õ³°Ô¶ý… 

    Mìü…ç³… ºsŸtMö? ÐéÆæÿ$ {»êçßýÃ×ý$Ìñý Äôý$MîüOyðþ¯@þ OòÜÇ…ç³—Væü¯Œþ.  

2) D ¶Mìü…¨ Ðé°ÌZ “A” ¿êVæü… @̄þ$…yìþ Æðÿ…yìþ…sìýMìü, “B” ¿êVæü…¯@þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ Æ>Ä¶ý$…yìþ.         

                         (4 × 2 = 8) 
‘A’¿êVæü… 

 a) ç³#Ææÿ$çÙ$¯@þMìüÄôý$ÅÐ@þ#Ææÿ¯@þÄ¶ý$…º$ @̄þ$ Væü$Ææÿ$Ð@þ#Ë$. 

 b) AË$´ëË —»Ÿ¯@þ$ç³yæþ$¯@þsìýt _^óþaÆÿ¬¨. 

 c) Ò‚ìýyìþ OÄñý$¯@þ Ð@þ*°íÜMìü Ððþ…yìþ ÑÐóþMæüÐ@þ¬ VæüËȲ óþÆæÿ$a¯óþ.  

 d) JËÏ ´ùÆÿ¬†Ñ$ {´ëÆÿ¬VæüË ´÷rtò³sìýt.  

‘B’¿êVæü… 

 a) ^èþË$Ïyé…{«§æþÌZMæüÐ@þ¬¯@þ ¯@þ„æü™èþË$¯óþyæþ$. 

 b) Mæü†¢OÐðþÆæÿ…M>ËaÐøÆÿ¬. 



 

 c) ±MæüËçßý…º$ Mæü¯@þ²¯@þ$ {´ëÆæÿ®±Ä¶ý$Ð@þ$Væü$¯ðþ. 

 d) AyæþÑ ™øVæü$Ë Æ>×ìýÄ¶ý$¯@þ²r$Ï™ø_…¨. 

3)  D ¶Mìü…¨ Ðé°ÌZ „A‟ ¿êVæü… @̄þ$…yìþ JMæü§é°Mìü, „B‟ ¿êVæü… ¯@þ$…yìþ JMæü §é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐ@þ*«§é¯éË$ Æ>Ä¶ý$…yìþ.  

                              (2 × 6 = 12) 
‘A’¿êVæü… 

a) Ô¶ýMæü$…™èþË Væü$×ýÖÌêË @̄þ$ ç³ÇÖÍ… è̂þ…yìþ. 

 b) ç³ÆæÿÐóþ$Ô¶ýÓÆæÿ$yæþ$ »ñýfj Ð@þ$à§óþÑMìü °™èþÅ™èþÓ… {ç³Ýë¨…_¯@þ Ñ«§é¯é°² ÑÐ@þÇ…^èþ…yìþ. 

‘B’¿êVæü… 

a)  ́ ëuæÿÅ¿êVæüÐ@þ*«§éÆæÿ…V> }Mæü–çÙ$~yæþ$ {§úç³¨° K§éÇa¯@þ Ñ«§æþÐðþ$sìýt§ø õ³ÆöP @̄þ…yìþ. 

 b) }Mæü–çÙ$~° ^óþçÙtË¯@þ$ Vøç³ïÜË̂$ Ä¶ý$ÔZ§æþMæü$ Ñ¯@þ²Ñ…_¯@þ Ñ««§é¯é°² ™ðþËµ…yìþ.  

4)  D ¶Mìü…¨ Ðé°ÌZ „A‟ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü, „B‟ ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü ÐéÅçÜÆæÿ*ç³ çÜÐ@þ*«§é¯éË$ Æ>Ä¶ý$…yìþ.  

                                                         (2 × 6 = 12) 
‘A’¿êVæü… 

 

a) §óþÔ¶ý¿¶ýMìü¢ VóüÄ¶ý$…ÌZ° A…™èþÆ>j¡Ä¶ý$ ¿êÐ@þ¯@þ¯@þ$ ÑÔ¶ý©MæüÇ…^èþ…yìþ.  

b) Mìü¯ðþ²Ææÿ¯@þyæþMæüË ÝùÄ¶ý$V>°² Ð@þÇ~…^èþ…yìþ. 

‘A’¿êVæü… 

a) “Mæü–ïÙÐ@þË$yæþ$” B«§éÆæÿ…V> MæüÆæÿÛMæü$° iÑ™é°² ÑÐ@þÇ…^èþ…yìþ. 

 b) „Væü¼¾ËÐ@þ¬‟ §éÓÆ> AÆæÿ$…«§æþ¡ çÜ$™èþ$° »ê«§æþË¯@þ$ ™ðþËç³…yìþ. 

5) D ¶Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐ@þ*«§é¯éË$ Æ>Ä¶ý$…yìþ.                                                        (2 × 6 = 12) 

a) “M>Ìê¡™èþ Ð@þÅMæü$¢Ë$” ÌZ yé|| ^èþ¶MæüÐ@þÇ¢ ´ë{™ú_™éÅ°² ç³ÇÖÍ…^èþ…yìþ.  

b) “M>Ìê¡™èþ Ð@þÅMæü$¢Ë$” ÌZ° ™é†ÓMæü §æþ–Mæüµ«§é°² çÜÒ$„ìü… è̂þ…yìþ. 

c) B¯@þ…§æþÆ>Ð@þ# ´ë{™èþ¯@þ$ ÑÔóýÏíÙ…^èþ…yìþ. 

d) “M>Ìê¡™èþ Ð@þÅMæü$¢Ë$” @̄þÐ@þËÌZ° ÝëÐ@þ*hMæü íÜ¦†Væü™èþ$Ë¯@þ$ ç³ÇÖÍ…^èþ…yìþ.   



 

 

6)  D ¶Mìü…¨ Ðé°ÌZ I¨…sìý° Ñyæþ©íÜ çÜ…«̈  M>Æ>ÅË$ Æ>Ä¶ý$…yìþ.                                                     (5 × 2 = 10) 

a) çßýÝë¢ºjÐ@þ¬  b) Ð@þ–Mø§æþÆæÿ$yæþ$ 

c) AÄ¶ý$Å¨  d) {ç³™èþÞ„æüÐ@þ¬ 

e) Væü$×ýÐ@þ…™èþ$Æ>Ë$ f) °{§æþÐøÄñý$ 

g) ^ðþMæü$Pr§æþªÐ@þ¬  h) HÐóþ$Ñ$ 

i) C…sìý…r   j) HOMðüMæü 

  

7) D ¶Mìü…¨ Ðé°ÌZ I¨…sìýMìü Ñ¶Væüçßý ÐéM>ÅË$ Æ>íÜ, Ðésìý çÜÐ@þ*çÜ ¯éÐ@þ*Ë$ ™ðþËç³…yìþ.                   (5 × 2 = 10) 

a) CçÜ$Mæü´ë™èþÆæÿ  b) M>â¶ýÆ>{† 

c) Ð@þÊyæþ$Ð@þ¬â¶ý$å d) CÆæÿ$Væü$´÷Ææÿ$Væü$ 

e) ^èþ…{§æþÔóýQÆæÿ$yæþ$ f) ç³ÇçÙÓ…VæüçÜ$Q… 

g) Mæü±²sìý´ër  h) çÜ¯é™èþ¯@þ«§æþÆæÿÃ… 

i) §éÓ§æþÔ¶ýÆæÿ${§æþ$Ë$ j) ç³#×êÅ^éÆæÿ$Åyæþ$ 

 





 

 (DHIN 1(NR)) 

B.A./B.Com./B.Sc./B.B.M./ B.B.A./B.H.M. DEGREE EXAMINATION,  DECEMBER - 2015 

 (Examination at the end of First Year) 

Part – I : HINDI 

Paper - I : General Hindi 

Time : 3 Hours  Maximum Marks : 70 

SECTION - A 

 

1) {H$Ýhr VrZ H$s g§X ©̂ g{hV ì`m»`m H$s{OE & [3 × 3 = 9] 

A) ZB© ~mVmo go K~amZm Am¡a CZHo$ njnm{V`m| H$mo {ZÝXm H$aZm _Zwî`H$m ñd^md hmo J`m h¢ & 

~) do h_ {MVm _| ŵZo Om aho h¢ {H$ H$me, EOÝQ> H$s _moQ>a, CZH$s _m{gH$ Am` Am¡a CZH$s VS>H$ ^S>H$ ^r _oar 

hmoVr & 

H$) H$m{bXmg Am¡a ^d ŷ{V H$m g§nyU© -àXò  ^maVr` dñVw h¡, dh {H$gr àXoe H$m CÎmam{YH$mar Zhr h¢ & 

S>) Amn boIH$ hmo Am¡a _oh_mZ ZdmO àH$meH$ hmo Vmo g_P br{OE Xmb-XmH$ H$s ny{S>`m| Am¡a H$Õo H$s VaH$mar 

{IbmH$a dh Amn go _w\²$V boI {bImZm MmhVm h¢, Bg H$mb Ho$ A{V{W gË`H$ma go ~«÷U gmdYmZ 

SECTION - B 

2) {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE & [10] 

A) H${d Am¡a H${dVm 

  ~) A{V{W 

 

3) {H$gr EH$ nmR> H$m gmam§e {deofVmAm| g{hV {b{IE & [10] 

A) ^maVr` gm{hË` H$m EH$Vm 

  ~) B©î`m© VyZ J`r _oao _Z go 

 

4) {H$gr EH$ H$hmZr H$m gmam§e {deofVmAm| g{hV {b{IE & [10] 

A) R>Hw$a H$m Hw$Am± 

  ~) nwañH$ma 

 

5) Xehao H$s Nw>{Å>`m| _| AnZo Jmd AmZo H$m {Z_ÝÌU XoVo hþE {_Ì H$mo nÌ {b{IE & [10] 

AWdm 



 

  AnZr nmR>ç nwñVH$m| H$m AmS>©a XoVo hþE {H$gr nwñVH$ {dH«o$Vm Ho$ Zm_ nÌ {b{IE & 

 

6) {H$Ýhr Xmo àým| H$m Odm~ Xg n§{º$`m| _| {b{IE & [2 × 3 = 6] 

A) _Yw{bH$m H$m M[aÌ {MÌU {b{IE & 

  ~) em_ZmW H$s _m± H$m M[aÌ {MÌU H$s{OE & 

  H$) amoO H$hmZr H$m CÔoí` - H$WZ 

  S>) CgZo H$hmWm H$mhZrH$m CÔoí`-H$WZ 

 

7) g~ àíZ {bIZm A{Zdm ©̀ h¢ & [10 × 1 = 10] 

A) Vw_ Vwåhmar nwñVH$ bmAmo (ewÕ H$s{OE) 

  ~) CgH$m n{V A~ Zhr ahm (qbJ ~XbH$a {b{IE) 

  H$) {dÚmb` _| ~mbH$ nT> ahm h¡ (dMZ ~XbH$a {b{IE) 

S>) _¢ Am_ ImVm hÿ± (dmÀ` ~XbH$a {b{IE) 

B) ZXr -------- _§Ja h¢ ([aº$ñWmZ ny{V© H$s{OE) 

\$) _¢ nmZr nr ahm h±ÿ (^{dî`VH$mb _| {b{IE) 

  `) Owbmhm (qbJ ~X{bE) 

a) gabm Zo H$hmZr {bIr (dMZ ~XbH$a {b{IE) 

b) Emergency (Bg eãX H$m AW© {hÝXr _| {b{IE) 

d) g_rjm (Bg eãX H$m Am§J«rOr _| {b{IE) 

 

8) {H$Ýhr Xmo eãXm| H$mo AW© {hÝXr _| {bIH$a dmŠ` _| à`moJ H$s{OE &  [2 × 2½ = 5] 

A) hmW nrbm H$aZm  

~) Zm¡ Xmo ½`mahm hmoZm 

  H$) OmZ hWobr na aIZm  

S> D$ÊQ> Ho$ _y±h _| Oram 

B) àVrjm 


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B.A./B.Com./B.Sc./B.B.M./B.B.A./B.H.M.  DEGREE EXAMINATION, DEC. – 2015 

(Examination at the end of First Year) 

Part – I : SANSKRIT 

Paper - I : Poetry, Grammar and Translation 

Time : 3 Hours   Maximum Marks: 80 

                      Answer the following  [3 × 10 = 30] 

 

1) a) Explain the state of the people in the rule of Dasaratha‟s in 300 words. 

  XeaWñ` amÁ`o àOmZm§ pñW{V {dd¥UwV? 

OR/AWdm 

 b) Explain in not more than 300 words the characteristics of learned man 

according to Viduraniti. 

  {dXþaZrVmo à{Vnm{XVarË¶m npÊS>VbjUm{Z 300 {‘Vofw nXofw {dd¥UwV& 

 

2) a) Describe the criticism of siva by the celibate to turn Parvati‟s mind 

  O{Q>b : {ed§ H$W§ {Z{ZÝX? 

OR/AWdm 

 b) Explain the facour done to the brahmin by Rajavahana. 

  amOdmhZH¥$Vm§ {ÛOmonH¥$qV {dd¥UwV& 

 

3) a) Write the story of “mrutoggivana”. 

  ‘¥VmoÁOrdZ§ Zm‘monm»¶mZ§ {bIV& 

OR/AWdm 

 b) Write the story of MVwa:eeH$:& 

  "MVwa: eeH$:' - B{V H$Wm§ {bIV& 

 



 

4) Answer any four from the following with reference to context. [4×4=16] 

 MËdm[a - ggÝX^© {bIV & 

i) XÿV‘wIm {h amOmZ : gd© Ed& 

ii) bmoHo$ XþO©ZH$ÊQ>H$mo ZmpñV& 

iii) ZjmÌmUrd MÝÐ‘m:& 

iv) {‘Ì§ Ûo{ï> {hZpñV M& 

v) eara‘mÚ§ Ibw Y‘©gmYZ‘²& 

vi) ‘ZmoaWmZm‘J{VZ© {dÚVo& 

vii) g§H$s{V©Vmo ní¶{V OrdbmoH$‘²& 

viii) Apñ‘Z² H$mZZo XÿarH¥$VH$b‘mo dgm{‘& 

 

5)  Translate any two into English or Telugu.  [2 × 3 =6] 

 ûcmoH$Û`§ Am§½b^mfm`m§ AmÝY«̂ mfm`m§ dm AZwdXV & 

i) g§gma¶{V H¥$Ë¶m{Z gd§Ì {d{M{H$ËgVo& 

 {Ma§ H$amo{V {jàmW} g ‘yXmo ^aVf©̂ & 

ii) AmË‘kmZ§ g‘maå^pñV{Vjm Y‘©{ZË¶Vm& 

  ¶‘Wm© ÞmnH$f©pÝV g d} npÊS>V CÀ¶Vo& 

iii) Bï>m§ ^m¶mª {à¶§ {‘Ì§ nwÌ§ Mm{VH$Zr¶g‘²& 

 [aH²$V nm{UZ© ní¶oÎmw VWm Z¡{‘{ÎmH§$ Z¥n‘²& 

iv) AmnXWª YZ§ ajoÔmamÝV joÕZ¡a{n& 

 AmË‘mZ§ gVV§ ajoÔma¡a{n YZ¡a{n& 



 

6) a) Write the forms of any three in the other numbers of the given persons. [3 × 2 = 6] 

  Ì`mUm§ BVadMZofw ê$nm{U {bIV& 

i) ^doV²& 

ii) Aní¶V² 

iii) ‘moXo& 

iv) ‘w#m& 

v) AH$eoV²& 

vi) H$W¶& 

 b) Write any four in the given cases - [4 × 2 = 8] 

  MVwUmª VÎm{Û^{³Vfw ê$nm{U {bIV& 

i) YmV[a 

ii) ¶mZwfw& 

iii) ‘Ë¶m& 

iv) dm[aUo& 

v) ’$bm{Z& 

vi) a‘m : 

vii) ZÚm& 

c) Combine any four : [4 × 2 = 8] 

MËdm[a gÝYÎm&  

i) dmUr + B©e : & 

ii) ^mo + A{V & 

iii) VWm + Ed& 

iv) AZw + E{V& 



 

v) dmH²$ + B©e:& 

vi) {ed: + Ah‘²& 

vii) h[a: + MaqV& 

viii) nwÌ: + AmJÀN>{V& 

d) Dissolve any three [3 × 2 = 6] 

Ì`mUm§ {dJ«hdmŠ`m{Z {bIV& 

i) {ÛÌm:& 

ii) MH«$nm{U:& 

iii) XånVr& 

iv) ŷYa:& 

v) n#mJd‘²& 

vi) KZí¶m‘:& 

       
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B.A./B.Com./B.Sc. DEGREE EXAMINATION, DEC. - 2015 

(Examination at the end of First Year) 

 Paper - I : INDIAN HERITAGE AND CULTURE 

Time : 1½ Hours  Maximum Marks : 50 
     

                                                Section - A (2 x 13 = 26) 

Answer any TWO of the following questions 

1) Describe the Indus Civilization? 

 çßýÆæÿ´ëµ ¯éVæü-Ç-Mæü-™èþ¯èþ$ Væü*Ça {ÐéÄæý$…yìþ?    

2) Analyse the greatness of Ashoka? 

 AÔZMæü ^èþ{Mæü-ÐèþÇ¢ Äñý$$MæüP Vöç³µ-§æþ-̄ é°² ÑÔóýÏ-íÙ…^èþ…yìþ? 

3)  Describe the Pallava‟s art and Architecture? 

 ç³ËÏ-Ðèþ#Ë ÐéçÜ$¢, ÕËµ Mæüâæý-Ë-̄ èþ$ Væü*Ça {ÐéÄæý$…yìþ? 

4)  Explain the moment of Bhakthi Cult? 

 ¿æýMìü¢ E§æþÅ-Ðèþ$-Ðèþ$$¯èþ$ Væü*Ça {ÐéÄæý$…yìþ? 

5) Write the social, cultural and social reforms in India. 

 ¿êÆæÿ-™èþ-§óþ-Ôèý…ÌZ° Ýë…íœ$Mæü, Ýë…çÜP-­–-†Mæü çÜ…çÜP-Ææÿ-×ý-Ë¯èþ$ Væü*Ça ÑÐèþ-Ç…^èþ…yìþ? 

6) Discuss the Satyagrah movement in freedom struggle? 

 ¿êÆæÿ™èþ ÝëÓ™èþ…{™ø-§æþÅ-Ðèþ$…ÌZ çÜ™éÅ-{Væüçßý E§æþÅ-Ðèþ$-Ðèþ$$¯èþ$ Væü*Ça {ÐéÄæý$…yìþ? 

                                                      Section - B (3 x 4 = 12) 

Write short notes on any THREE of the following questions 

7) Varna System. 

 ^é™èþ$ÅÆæÿ~ ç³§æþ®-† 

8) Chandragupta Mourya. 

 ^èþ…{§æþ-Væü$ç³¢ Ðèþ˜Ææÿ$Å-yæþ$ 



 

9) Astanga Marga. 

 AÚët…Væü Ðèþ*ÆæÿY-Ðèþ$$ 

10) Sri Krishna Devaraya. 

 {Ö Mæü–çÙ~ §óþÐèþ-Æ>-Äæý$-Ë$ 

11) Taj Mahal. 

 ™égŒý Ðèþ$çßý-ÌŒý 

12) Raja Ram Mohan Roy. 

 Æ>gê Æ>Ððþ*Ã-çßý¯Œþ Æ>ÄŒý$ 

13) Gopala Krishna Ghokhale 

 Vø´ëË Mæü–çÙ~ VøQ-Ìôý 

14) Rama Krishna Matam. 

 Æ>Ðèþ$-Mæü–çÙ~ Ðèþ$uæÿ… 

                                                           Section - C (3 x 4 = 12) 

 

15) Fill up the blanks :   

 Rêä-Ë¯èþ$ ç³NÇ…ç³#-Ðèþ$$ 

a) Vandematharam poem was written by _____. 

Ðèþ…§óþ-Ðèþ*-™èþÆæÿ X™èþ-Ðèþ$$¯èþ$ Ææÿ_…_-̄ èþ¨ GÐèþÆæÿ$ _____.  

b) Who was the founder of Jain Religion _____. 

gñýŌ èþ-Ðèþ$™èþ Ýë¦ç³-Mæü$yæþ$ _____.  

c) The great singer patronised by Akbar Asthana _____. 

AMæü¾ÆŠÿ BÝë¦-̄ èþ…ÌZ° {ç³Ðèþ$$Q çÜ…X™èþ V>Äæý$-Mæü$-yæþ$ _____.  

d) The cause of war decline of Vijaya Nagara dynasty _____. 

ÑfÄæý$ è̄þVæüÆæÿ Ýë{Ðèþ*fÅ ç³™èþ¯èþ… M>Ðèþ-yé-°Mìü M>Ææÿ-×ý-Ððþ$Ō èþ Äæý$$§æþ®… _____.  

16) Choose the correct answer :            

 çÜÇ-Äñý$Ō èþ çÜÐèþ*-«§é-̄ é°² Væü$Ç¢… è̂þ…yìþ? 



 

a) The founder of „Sathavahana‟ (   ) 

i) Gouthami putra Satakarni 

ii) Simuka 

iii) Pulamavi II 

iv) Chandragupta 

  „ Ôé™èþ-Ðé-çßý-̄ èþ$Ë‟ ÐèþÅÐèþ-Ýë¦-ç³-Mæü$-yæþ$  

i)   Vú™èþ-Ñ$> ç³#{™èþ Ôé™èþ-Mæü-Ç~ 

    ii) íÜÐèþ$$-Q$-yæþ$ 

   iii) Æðÿ…yæþÐèþ ç³#Ë-Ðèþ*-Ñ 

   iv) ^èþ…{§æþ-Væü$ç³#¢yæþ$ 

 

b) In Sindhu culture the houses were built by the people. (   ) 

i) Rock 

ii) Wood 

iii) Clay 

iv) Furnaced Brick 

  íÜ…«§æþ* ¯éVæü-Ç-Mæü™èþ {ç³fË$ ™èþÐèþ$ Câæýå¯èþ$ Òsìý™ø Mæür$t-Mö-̄ é²-Ææÿ$. 

    i) Æ>Æÿ$$ 

   ii) MæüË-ç³ 

   iii) Ðèþ$sìýt 

  iv) M>Ía¯èþ Cr$-Mæü 

c) What was the original name of Shersha (   ) 

i) Farid 

ii) Sherkhan 

iii) Shikdhar 

iv) Thodermal 

   



 

  õÙÆ>Û AçÜË$ õ³Ææÿ$ HÑ$? 

    i) çœÈ-§Šþ 

   ii) õÙÆŠÿ-Rê-̄ Œþ 

   iii) íÙM>ª-ÆŠÿ 

  iv) ™øyæþ-ÆŠÿ-Ðèþ$-ÌŒý 

d) Who was the defeater by Chandra Gupta Vikramaditya II. (   ) 

  i)  Sakas 

ii) Greeks 

iii) Hunus 

iv) Indopartians   

  ^èþ…{§æþ-Væü$ç³¢ Ñ{Mæü-Ðèþ*-̈ -™èþ$Åyæþ$ II  ÒÇ° Kyìþ…^ðþ-̄ èþ$. 

    i) ÔèýMæü$-Ë$ 

   ii) {XMæü$-Ë$ 

   iii) çßý*×ý$-Ë$ 

  iv) C…yø-ç³-ÇÛ-Äæý$-̄ Œþ-Ë$  

17) Match the following : 

 {Mìü…¨ Ðé°° f™èþ ç³Ææÿ$-̂ èþ$-Ðèþ$$. 

a) Kautilya  Adwitha   

Músìý-Ë$Å-yæþ$  A§ðþOÓ-™èþ-Ðèþ$$ 

b) Orugallu  Artha Sastra 

KÆæÿ$-Væü-Ë$Ï    AÆæÿ¦-Ôé-çÜ-̂Ðèþ$$ 

c)  Sankaracharya Slaverism 

   Ôèý…Mæü-Æ>-̂ é-ÆæÿÅ   »ê°çÜ Ðèþ…Ôèý-Ðèþ$$ 

d)  Khuthubuddin Aibak Kakatiya‟s 

    Mæü$™èþ$-º$-̈ ª̄ Œþ Iº-MŠü  M>Mæü-¡-Äæý$$-Ë$ 

  



  

(DBCO 11) 

B.Com. DEGREE EXAMINATION, DEC. - 2015 

(Examination at the end of First Year) 

Part - II : COMMERCE 

 Paper – I : Business Economics 

Time : 03 Hours  Maximum Marks : 70 

                       SECTION - A (4 x 3 = 12) 

Answer any four of the following 

      

1) Economic activities 

 BÇ®Mæü M>ÆæÿÅMæüÌê´ëË$. 

2) Law of supply. 

 çÜò³•Ï çÜ*{™èþÐèþ$$. 

3)  Marginal Utility. 

E´ë…™èþ {ç³Äñý*f¯èþÐèþ$$. 

4)  Monopoly. 

 HMæüÝëÓÐèþ$ÅÐèþ$$. 

5)  GNP. 

 çÜ*¦Ë gê¡Äñý*™èþµ†¢. 

6)  Balance of trade. 

 ÐèþÆæÿ¢Mæü ÔóýçÙÐèþ$$. 

7)  Wealth definition. 

 çÜ…ç³§æþ °ÆæÿÓ^èþ¯èþÐèþ$$. 

8)  Consumer’s Surplus. 

 Ñ°Äñý*Væü§éÆæÿ$° Ñ$Væü$Ë$. 



 

                      SECTION - B (2 x 8 = 16) 

Answer any two of the following 

 9) Explain the concept of Law of Diminishing Marginal Utility. 

 „îü×Z´ë…™èþ {ç³Äñý*f¯èþ çÜ*{™é°² ÑÐèþÇ…ç³#Ðèþ$$. 

10) Distinguish between Micro economics and Macro economics. 

 çÜ*Mæü‡ AÆæÿ® Ô>çÜ•Ðèþ$$ Ðèþ$ÇÄæý$$ çÜ*¦Ë AÆæÿ® Ô>çÜ•Ðèþ$$Ë Ðèþ$«§æþÅ ™óþyéË$ ÑÐèþÇ…ç³#Ðèþ$$. 

11) Explain various phases of Business cycle. 

 ÐéÅ´ëÆæÿ ^èþ{MæüÐèþ$$ÌZ° ÑÑ«§æþ §æþÔèýË$ ÑÐèþÇ…ç³#Ðèþ$$. 

12) Describe the need for the International trade. 

 A…™èþÆ>j¡Äæý$ ÐèþÆæÿ¢MæüÐèþ$$ Äñý$$MæüP BÐèþÔèýÅMæü™èþ¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

                      SECTION – C (3 x 14 = 42) 

Answer any three of the following 

13) Explain the Law of variable proportions. 

 ^èþÆ>¯èþ$´ë™èþ çÜ*{™èþÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

14) What is elasticity of demand? Explain different kinds of elasticity of demand. 

 yìþÐèþ*…yŠþ ÐéÅMø^èþ™èþÓÐèþ$$ A è̄þV>¯óþÑ$?  yìþÐèþ*…yæþ$ ÐéÅMø^èþ™èþÓÐèþ$$ÌZ° ÆæÿM>Ë¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

15) Write about WTO. 

 {ç³ç³…^èþ Ðé×ìýfÅ çÜ…çÜ¦ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

16) What is perfect competition? How is price determined under perfect competition? 

 ç³Çç³NÆæÿ~OÐðþ$¯èþ ´ùsîý A¯èþV>¯óþÑ$? ç³Çç³NÆæÿ~OÐðþ$¯èþ ´ùsîýÌZ «§æþÆæÿ Gr$Ï °Ææÿ~Æÿ$$… è̂þºyæþ$¯èþ$? 

17) Define National Income. How do you measure it? 

 gê¡Äæý*§éÄæý*°² °ÆæÿÓ_… è̂þ$Ðèþ$$. gê¡Äæý*§éÄæý*°² ÌñýMìüP…^óþ ç³§æþ®™èþ$ÌôýÑ? 

18) Explain Robbins Scarcity definition of Economics. 

 Æ>¼¯ŒþÞ MöÆæÿ™èþ °ÆæÿÓ^èþ¯èþÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 



 

(DBCO 12) 

B.Com. DEGREE EXAMINATION, DEC. - 2015 

(Examination at the end of First Year) 

Part – II : Commerce 

 Paper - I : Financial Accounting - I 

Time : 3 Hours  Maximum Marks : 70 
    

                       SECTION - A (4 × 3 = 12) 

Answer any four of the following 

1) Errors of principle. 

 íÜ§é®…† MæüÆæÿ×ý §øÚëË$. 

2) Invoice price. 

 C¯éÓÆÿ$$‹Ü «§æþÆæÿ. 

3) Abnormal loss. 

 AÝë«§éÆæÿ×ý è̄þçÙt…. 

4) Working days. 

 A¯èþ${Væüçßý ¨¯éË$. 

5) Depreciation fund. 

 ™èþÆæÿ$Væü$§æþË °«̈ . 

6) Book keeping. 

 º$MŠü Mîüí³…VŠü. 

7) Joint venture. 

 EÐèþ$Ãyìþ ÐéÅ´ëÆæÿ…. 

8) Credit Note. 

 {MðüyìþsŒý ¯øsŒý. 



 

                        SECTION - B (2 × 8 = 16) 

Answer any two of the following 

9) Define accounting? Explain its advantages and limitation? 

 AMú…sìý…VŠü¯èþ$ °ÆæÿÓ_…_, AMú…sìý…VŠü Äñý$$MæüP {ç³Äñý*f¯éË¯èþ$, ÌZ´ëË è̄þ$ Væü*Ça {ÐéÄæý$…yìþ. 

10) Journalize the following transactions : 

 2014 

 April 1 Ganesh commenced business with a capital of Rs. 1,50,000. 

  2 Purchased goods from Ahmed Rs. 20,000. 

  3 Solid goods Rs. 1,000. 

  4 Returned goods to Ahmed Rs. 500. 

  7 Sold goods to Chand Rs. 2,500. 

  8 Chand returned goods Rs. 100. 

  11 Cash purchases Rs. 5,000. 

  16 Paid for office expenses Rs. 1,500. 

  20 Drew cash for personal use Rs. 1,000. 

  26 Paid insurance premium Rs. 200. 

  27 Interest and dividend received Rs. 1,000. 

  30 Paid salaries Rs. 5,000. 

 {Mìü…¨ ÐèþÅÐèþàÆ>ËMæü$ _sêt ç³§æþ$ªË$ {ÐéÄæý$$Ðèþ$$. 

 2014 

 H{í³ÌŒý 1 Væü×ôý‹Ù Ææÿ*. 1,50,000 Ë™ø ÐéÅ´ëÆæÿÐèþ$$ {´ëÆæÿ…À…^ðþ¯èþ$. 

   2 AçßýÐèþ$Ã§Šþ ¯èþ$…_ çÜÆæÿ$Mæü$ Mö¯èþ$VøË$ Ææÿ*. 20,000. 

   3 çÜÆæÿ$Mæü$ AÐèþ$ÃM>Ë$ Ææÿ*. 1,000. 

   4 AçßýÐèþ$Ã§ŠþMæü$ çÜÆæÿ$Mæü$ Ðéç³çÜ$Ë$ Ææÿ*. 500. 

   7 ^é…§ŠþMæü$ çÜÆæÿ$Mæü$ AÐèþ$ÃM>Ë$ Ææÿ*. 2,500. 

   8 ^é…§Šþ ¯èþ$…yìþ çÜÆæÿ$Mæü$ Ðéç³çÜ$Ë$ Ææÿ*. 100. 

   11 ¯èþVæü§æþ$ Mö¯èþ$Vøâæý$å Ææÿ*. 5,000. 

   16 BïœçÜ$ QÆæÿ$aËMæü$ ð̂þÍÏ…_¯èþÑ Ææÿ*. 1,500. 



 

   20 Ý÷…™é°Mìü Ðéyæþ$Mö¯èþ² è̄þVæü§æþ$ Ææÿ*. 1,000. 

   26 ÁÐèþ* {ï³Ñ$Äæý$… ð̂þÍÏ…ç³# Ææÿ*. 200. 

   27 Ðèþ_a¯èþ Ðèþyîþz Ðèþ$ÇÄæý$$ yìþÝûP…r$ Ææÿ*. 1,000. 

   30 i™éË ð̂þÍÏ…ç³# Ææÿ*. 5,000. 

 

11) A, B and C enter into a joint venture to divide profits equally. They bought goods from D and Co. 

for Rs. 12,50,000 and from A for Rs. 2,50,000. A contributed Rs. 3,00,000, B Rs. 4,00,000 and C 

Rs. 9,00,000. Which amounts were banked in a joint account. They settled their account with 

D&Co. by cheque and paid for carriage and other expenses Rs. 75,000. They sold goods for cash 

Rs. 6,50,000 and to Q&Co., on credit for Rs. 14,00,000 who accepted a bill for the amount. The 

acceptance was encashed and realized Rs. 13,70,000. A was allowed 5% commission on sales for 

effecting the transactions. 

 Open the necessary accounts, assuming that the final statement between the parties was made by 

cheques. 

 A, B Ðèþ$ÇÄæý$$ C  Ë$ çÜÐèþ*¯èþ…V> Ìê¿êË$ ç³…^èþ$Mö¯óþrr$Ï EÐèþ$Ãyìþ ÐéÅ´ëÆæÿ… ó̂þÝëÆæÿ$. ÐéÆæÿ$ D and Co. è̄þ$…yìþ Ææÿ*. 

12,50,000Ë$ Ðèþ$ÇÄæý$$ A  ¯èþ$…yìþ Ææÿ*. 2,50,000 çÜÆæÿ$Mæü$ Mö¯èþ$Vøâæý$ ó̂þíÜ¯éÆæÿ$. A  Ææÿ*. 3,00,000 B  Ææÿ*. 

4,00,000 Ðèþ$ÇÄæý$$ C  Ææÿ*. 9,00,000. D Ððþ$$™é¢Ë¯èþ$ EÐèþ$Ãyìþ »êÅ…Mæü$ Rê™éÌZ fÐèþ$ ^óþíÜ¯éÆæÿ$. ð̂þMæü$P §éÓÆ> 

D&Co. Rê™é è̄þ$ ç³ÇçÙPÇ… è̂þyæþOÐðþ$¯èþ¨. Ðèþ$ÇÄæý$$ ÆæÿÐé×êMæü$, C™èþÆæÿ QÆæÿ$aËMæü$ Ææÿ*. 75,000 ^ðþÍÏ…^èþyæþOÐðþ$¯èþ¨. Ææÿ*. 

6,50,000 çÜÆæÿ$Mæü$ ¯èþVæü§æþ$Mæü$ AÐèþ$ÃyæþOÐðþ$¯èþ¨ Ðèþ$ÇÄæý$$ Q&Co. ÐéÇMìü AÆæÿ$Ðèþ#Oò³ Ææÿ*. 14,00,000 AÐèþ$ÃyæþOÐðþ$¯èþ¨. 

C…§æþ$Mæü$ çÜ…º…¨…_ è̄þr$Ðèþ…sìý ¼Ë$Ï̄ èþ$ Ææÿ*. 13,70,000Mæü$ yìþÝûP…r$ ó̂þçÜ$MøÐèþyæþOÐðþ$¯èþ¨. A  AÐèþ$ÃM>ËOò³ 5% MæüÒ$çÙ¯Œþ 

^ðþÍÏ…^éÍ. 

 AÐèþçÜÆæÿÐèþ$Æÿ$$¯èþ Rê™éË è̄þ$ ™èþÄæý*Ææÿ$ ó̂þÄæý$$Ðèþ$$. 

 

12) From the following information supplied by Gopal, prepare a bank reconciliation statement as on 

31-12-2012. 

      Rs. 

a) Bank overdraft as per pass book  16,500 

b) Cheques issued but not presented for payment 8,750 

c) Cheques deposited with the bank but not collected 10,500 

d) Cheques recorded in the cash book but not seat to the bank for collection 2,000 

e) A direct deposited by a customer, does not appear in the cash book 3,500 

f) Bank charges debited in pass book only 20 

g) Premium on life policy paid by bank on standing advice 180 



 

{Mìü…¨ ÐèþÅÐèþàÆ>Ë™ø 31&12&2012 ¯ésìý »ê…Mæü$ °ËÓË çÜÐèþ$¯èþÓÄæý$ ç³sîýt° ™èþÄæý*Ææÿ$ ^óþÄæý$$Ðèþ$$. 

     Ææÿ*. 

a) ´ë‹Ü º$MŠü {ç³M>Ææÿ… KÐèþÆŠÿ {yé‹œt °ËÓ  16,500 

b) gêÈ AÆÿ$$¯èþ ^ðþÍÏ…ç³#Mæü$ §éQË$ M>° ^ðþMæü$PË$  8,750 

c) »êÅ…Mæü$ÌZ yìþ´ëhsŒý ^óþíÜ¯é ÐèþçÜ*Ë$ M>° ^ðþMæü$PË$ 10,500 

d) Ðèþ_a è̄þ ^ðþMæü$P è̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ è̄þÐðþ*§æþ$ ^óþíÜ »êÅ…Mæü$Mæü$ ç³…ç³#r Ðèþ$Ææÿ_¯èþ¨ 2,000 

e) Rê™é§éÆæÿ$yæþ$ ó̄þÆæÿ$V> Ðèþ$ è̄þ Rê™éÌZ è̄þÐðþ*§æþ$ ^óþíÜ è̄þÑ, è̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ è̄þÐðþ*§æþ$ M>°Ñ  3,500 

f) »êÅ…Mæü$ ^éÈjË$ ´ë‹Ü º$MŠüÌZ Ðèþ*{™èþÐóþ$ yðþ¼sŒý ^óþíÜ¯éÆæÿ$ 20 

g) °È~™èþ çÜËà {ç³M>Ææÿ… »êÅ…Mæü$ ÐéÆæÿ$ ^ðþÍÏ…_¯èþ ÁÐèþ* {ï³Ñ$Äæý$… è̄þVæü§æþ$ ç³#çÜ¢Mæü…ÌZ è̄þÐðþ*§æþ$ Ìôý§æþ$  180 

 

                       SECTION - C (3 × 14 = 42) 

Answer any three of the following 

 

13) Explain briefly about types of subsidary books?  

 çÜàÄæý$Mæü _sêtËÌZ ÆæÿM>Ë¯èþ$ Væü*Ça Mæü$Ïç³¢…V> ÑÐèþÇ… è̂þ…yìþ. 

 

14) From the following Trial Balance of Siva Kumar prepare the trading, profit and loss Account for 

the year ended 31
st
 December 2009 and Balance Sheet as at that date after making necessary 

adjustments. 

Trial Balance of Siva Kumar as on 31
st
 December 2009 

 Debit Balances Rs. Credit Balances Rs. 

 Buildings  5,000 Capital 50,000 

 Plant and machinery 10,000 Sales 1,00,000 

 General expenses 5,000 Return outwards 8,000 

 Purchases  80,000 Creditors 12,000 

 Cash at Bank 10,000 Bills payable 3,000 

 Returns inwards 10,000 Commission 600 

 Stock (1-1-09) 16,000 Interest 200 

 Salary  3,000 



 

 Rent  800 

 Taxes and insurence 400 

 Debtors  15,200 

 Bills receivable 4,800 

 Investments 6,000 

 Carriage  2,000 

 Printing and stationary 1,000 

 Advertisements 600 

 Cash in hand 4,000 

   1,73,800  1,73,800 

 Adjustments : 

a) Closing stock was valued at Rs. 25,000. 

b) Depreciate plant at 5% and Buildings at 2%. 

c) Out standing liabilities were : Salaries Rs. 400 and Rent Rs. 200. 

d) Insurance was prepaid to the extent of Rs. 50. 

e) Make provision for doubtful debts at 5%. 

f) Write off Rs. 200 as bad debts. 

g) Interest accrued on investments amounts to Rs. 100. 

D {Mìü…¨ A…Mæü×ê ÕÐèþ Mæü$Ðèþ*ÆŠÿ A ó̄þ ÐèþÆæÿ¢Mæü$°Mìü yìþòÜ…ºÆŠÿ 31, 2009 ¯ésìýMìü çÜ…º…«̈ …_¯èþ¨. çÜÆæÿ$ª»êrÏ̄ èþ$ ç³ÇVæü×ýÌZ°Mìü 

¡çÜ$Mö…r* A™èþ° Ðèþ$$W…ç³# ÌñýMæüPË$ ™èþÄæý*Ææÿ$ ^óþÄæý$$Ðèþ$$. 

yðþ¼sŒý °ËÓË$ Ææÿ*. {MðüyìþsŒý °ËÓË$ Ææÿ*. 

¿æýÐèþ¯éË$  5,000 Ðèþ$*Ë«§æþ¯èþ… 50,000 

´ëÏ…r$, Äæý$…{™éË$ 10,000 AÐèþ$ÃM>Ë$ 1,00,000 

Ýë«§éÆæÿ×ý QÆæÿ$aË$ 5,000 Mö¯èþ$VøË$ Ðéç³çÜ$Ë$ 8,000 

Mö¯èþ$Vøâæý$å  80,000 º$$×ý§é™èþË$ 12,000 

»êÅ…Mæü$ÌZ ¯èþVæü§æþ$ 10,000 ^ðþÍÏ…ç³# ¼Ë$ÏË$ 3,000 

AÐèþ$ÃM>Ë Ðéç³çÜ$Ë$ 10,000 MæüÒ$çÙ¯Œþ 600 

çÜÆæÿ$Mæü$ (1&1&09) 16,000 Ðèþyîþz 200 

i™éË$  3,000 



 

A§ðþª  800 

ç³¯èþ$²Ë$ Ðèþ$ÇÄæý$$ ÁÐèþ* 400 

º$$×ý{VæüçÜ$¢Ë$ 15,200 

ÐèþçÜ*Ë$ ¼Ë$ÏË$ 4,800 

ò³r$tºyæþ$Ë$  6,000 

ÆæÿÐé×ê  2,000 

{í³…sìý…VŠü Ðèþ$ÇÄæý$$ õÜtçÙ¯èþÈ 1,000 

{ç³Mæür¯èþË$  600 

^óþ†ÌZ ¯èþVæü§æþ$ 4,000 

  1,73,800  1,73,800 

çÜÆæÿ$ª»êr$Ï : 

a) Ðèþ$$W…ç³# çÜÆæÿ$Mæü$ Ææÿ*. 25,000. 

b) ™èþÆæÿ$Væü$§æþË ´ëÏ…r$Oò³ 5% Ðèþ$ÇÄæý$$ ¿æýÐèþ¯èþ… Oò³ 2%. 

c) ^ðþÍÏ…^èþÐèþËíÜ¯èþ i™éË$ Ææÿ*. 400 Ðèþ$ÇÄæý$$ A§ðþª Ææÿ*. 200. 

d) Ðèþ$$…§æþ$V> ^ðþÍÏ…_¯èþ ÁÐèþ* {ï³Ñ$Äæý$… Ææÿ*. 50. 

e) º$$×ý{VæüçÜ$¢ËOò³ 5% çÜ…ÔèýÄæý*™èþÃMæü »êMîüË MöÆæÿMæü$ HÆ>µr$ ó̂þÄæý$$Ðèþ$$. 

f) Ææÿ*. 200 Æ>° »êMîüË$ Ææÿ§æþ$ª ^óþÄæý$…yìþ. 

g) ò³r$tºyæþ$ËOò³ Æ>ÐèþËíÜ¯èþ Ðèþyîþz Ææÿ*. 100. 

 

  

15) Sen Brothers of Culcutta consigned sports materials costing Rs. 20,000 to their agents. Edris & 

Co., of Hyderabad. Sen Brothers paid Rs. 1,000 for freight and Rs. 200 for insurance etc. The 

consignee took delivery of goods by paying Rs. 200 towards non recurring expenses. Exactly 

after 3 months, they sent an account sales showing that 40% of the stock realized Rs. 10,800 in 

cash and 50% of the stock sold on credit Rs. 12,400. One customer from whom Rs. 400 was due 

became insolvent and only 50% of the debt could be recovered. The consignees were entitled to a 

commission of 5% on Sales. They remitted the balance after deducting commission and selling 

expenses amounting to Rs. 300. 

 Show consignment account, consignee account in the books of Sen Brothers. Also show the 

valuation of stock. 

 



 

 òÜ¯Œþ {º§æþÆŠÿÞ MæüËMæü™é¢ ÐéÆæÿ$ ÝùµÆŠÿt Þ Ððþ$sîýÇÄæý$ÌŒýÞ Ææÿ*. 20,000 C{yìþ‹Ù A…yŠþ Mø Oòßý§æþÆ>»ê§Šþ ÐéÇMìü Mæü¯ŒþOòÜ¯ŒþÐðþ$…sŒý Oò³ 

ç³…ç³yæþOÐðþ$¯èþ¨. òÜ¯Œþ {º§æþÆŠÿÞ ÐéÆæÿ$ Ææÿ*. 1,000 [OòœsŒý Ðèþ$ÇÄæý$$ Ææÿ*. 200 ÁÐèþ* {ï³Ñ$Äæý$… ð̂þÍÏ…_¯éÆæÿ$. Mæü¯ŒþOòÜ° Ææÿ*. 200 

ç³#¯èþÆ>Ðèþ–™èþ… M>° QÆæÿ$aË è̄þ$ ð̂þÍÏ…_ çÜÆæÿ$Mæü$¯èþ$ ¡çÜ$Mö¯é²yæþ$. 

 Ðèþ$*yæþ$ ¯ðþËË ™èþÆæÿ$Ðé™èþ AMú…sŒý õÜÌŒýÞ ç³…í³¯éyæþ$. §é° {ç³M>Ææÿ… 40% çÜÆæÿ$Mæü$ è̄þ$…yìþ Ææÿ*. 10,800 ¯èþVæü§æþ$ ÐèþçÜ*OÌñý¯èþ¨ 

Ðèþ$ÇÄæý$$ 50% çÜÆæÿ$Mæü$¯èþ$ AÆæÿ$Ðèþ#Oò³ Ææÿ*. 12,400ËMæü$ AÐèþ$ÃyæþOÐðþ$¯èþ¨. JMæü Rê™é§éÆæÿ$° è̄þ$…_ Ææÿ*. 400 ¨ÐéÌê 

M>Ææÿ×ý…V> ÐèþçÜ*Ë$ M>Ìôý§æþ$. AÆÿ$$™óþ 50% »êMîü ÐèþçÜ*Ë$ AÆÿ$$ è̄þ¨. Mæü¯ŒþOòÜ±Mìü AÐèþ$ÃM>ËOò³ 5% MæüÒ$çÙ¯Œþ ^ðþÍÏ…_¯éÆæÿ$. 

AÐèþ$ÃMæüç³# QÆæÿ$aË$ Ææÿ*. 300 AÆÿ$$¯éÆÿ$$. òÜ Œ̄þ {º§æþÆŠÿÞ ç³#çÜ¢M>ËÌZ Mæü¯ŒþOòÜ¯ŒþÐðþ$…sŒý Rê™é, Mæü¯ŒþOòÜ° Rê™é ™èþÄæý*Ææÿ$ 

^óþÄæý$…yìþ. Mæü¯ŒþOòÜ¯ŒþÐðþ$…sŒý çÜÆæÿ$Mæü$ ÑË$Ðèþ¯èþ$ Mæü*yé ÌñýMìüP…^èþ…yìþ. 

 

16) A firm purchases a 5 years lease for Rs. 40,000 on 1
st
 January. It decides to write off depreciation 

on the Annuity method. Assuming the rate of interest to be 5% per annum. The annuity table 

show that a sum of Rs. 9,239 should be written off every year. Show the lease Account for five 

years. Calculations are to be made to the nearest rupee. 

 JMæü çÜ…çÜ¦ f¯èþÐèþÇ 1Ðèþ ™óþ©¯èþ 5 çÜ…‘‘ MúË$¯èþ$ Ææÿ*. 40,000ËMæü$ Mö¯èþ²¨. ™èþÆæÿ$Væü$§æþË °«̈ ° ç³° HÆ>µr$ ó̂þÄæý$yæþ… §éÓÆ> 

5 çÜ…‘‘ ç³NÆæÿ¢Æÿ$$¯èþ ™èþÆæÿ$Ðé™èþ MúË$ ¯èþÒMæüÆæÿ×ýMæü$ HÆ>µr$ fÇW¯èþ¨. ò³r$tºyæþ$ËOò³ B{Õ™èþ Ðèþyîþz Æóÿr$ 5% ^öç³š¯èþ 5 çÜ…‘‘ 

™èþÆæÿ$Ðé™èþ AÐèþçÜÆæÿÐèþ$Æÿ$$ è̄þ yæþº$¾ M>ÐéË…sôý çÜ…Ðèþ™èþÞÆ>°Mìü Ææÿ*. 9,239 ò³r$tºyìþ AÐèþçÜÆæÿ… A°. 

 Ððþ$$§æþsìý 5 çÜ…‘‘ËMæü$ MúË$ Rê™é è̄þ$ (Lease A/c)¯èþ$ ^èþ*ç³…yìþ. 

 

17) 1-4-2012 ‘A’ sold goods to B on credit amount Rs. 40,000 and drawn a bill for 3 months for that 

B accepted. As on 1-5-2012. A discounted the bill into their bank @ 10%. At the due date the bill 

is dishonoured. A paid noting charges Rs. 100. 

 Prepare necessary journal entries in the books of both the parties. 

1-&4&2012 ™óþ¨¯èþ A, B Mæü$ Ææÿ*‘ 40,000 ÑË$Ðèþ MæüÍW è̄þ çÜÆæÿ$Mæü$¯èþ$ AÆæÿ$Ðèþ# Oò³ AÑ$Ã A™èþ° Oò³ 3 ¯ðþËË Væüyæþ$Ðèþ# VæüË 

çßý$…yîþ. {ÐéíÜ A…XM>Ææÿ… ´÷…§ðþ¯èþ$. 1&5&2012 ™óþ©¯èþ B çßý$…yìþ A  ™èþ¯èþ »êÅ…Mæü$ Ðèþ§æþª 10%°Mìü yìþÝûP…r$ ^óþçÜ$Mö¯ðþ¯èþ$. 

Væüyæþ$Ðèþ# ™óþ¨¯èþ çßý$…yîþ A¯é§æþÆæÿ×ý ð̂þ…§æþV> A Mæü$ §æþ–ÒMæüÆæÿ×ý QÆæÿ$aË$ Ææÿ*. 100 AÆÿ$$¯èþÑ. 

Oò³ ÐèþÅÐèþàÆ>ËMæü$ CÆæÿ$Ðèþ#Ç ç³#çÜ¢M>ËÌZ _sêt ç³§æþ$ªË$ {ÐéÄæý$$Ðèþ$$. 

 

 



 

 

18) A Book keeper prepared a Trial Balance as 31
st
 December 2009 which showed difference. The 

difference in books was carried to a suspense account. The under mentioned errors were 

subsequently discovered. 

a) An item of Rs. 25 appearing in the credit side discount column of the cash book representing 

discount received from Mehta has been credited to Mahesh account. 

b) The total of purchases book of a page Rs. 7,075 was carried forward as Rs. 7,000. 

c) Sales returns book has been under cast by Rs. 600. 

d) A cash sales of Rs. 185 to Sagar correctly entered in the cash book was posted to the debit of 

Sagar’s personal account in the ledger. 

e) A sum of Rs. 1,000 written off as depreciation on building was not posted to the 

depreciation account 

f) Repairs to buildings Rs. 850 was posted to buildings account. 
 

Pass necessary journal entries to rectify the above errors. 

 yìþòÜ…ºÆŠÿ 31, 2009 JMæü º$MŠü Mîüç³ÆŠÿ A…Mæü×ê ™èþÄæý*Ææÿ$ ^óþÄæý$V> ÐèþÅ™éÅçÜÐèþ$$ Ðèþ_a¯èþ¨. B ÐèþÅ™éÅçÜÐèþ$$¯èþ$ A¯éÐèþ$™èþ$ 

Rê™éÌZ è̂þ*í³ Ðèþ$$W…ç³# ÌñýMæüPË$ ™èþÄæý*Ææÿ$ ^óþÝëyæþ$. ™èþ§æþ$ç³Ç {Mìü…¨ ™èþç³šË¯èþ$ Mæü¯èþ$Vö¯é²yæþ$. 

a) ¯èþVæü§æþ$ ç³#çÜ¢Mæü…ÌZ {MðüyìþsŒý OÐðþç³# Ððþ$çßý™é ¯èþ$…_ yìþÝûP…sŒý Ææÿ*. 25 GÐèþ*Ææÿ$´ër$¯èþ Ðèþ$õßý‹Ù Rê™éMæü$ {MðüyìþsŒý 

^óþÄæý$yæþOÐðþ$¯èþ¨. 

b) Mö¯èþ$VøË$ ç³#çÜ¢Mæü… õ³h Ððþ$$™èþ¢…Mæü$ Ææÿ*. 7,075Ë$ ™èþ§æþ$ç³Ç õ³hMìü Ææÿ*. 7,000 V> º¨Î AÆÿ$$ è̄þ¨. 

c) AÐèþ$ÃMæüç³# Ðéç³çÜ$Ë ç³#çÜ¢Mæü… Ææÿ*. 600 ^óþ™èþ ™èþMæü$PÐèþV> Mæü*yæþyæþOÐðþ$¯èþ¨. 

d) ÝëVæüÆŠÿMæü$ AÑ$Ã è̄þ ¯èþVæü§æþ$ AÐèþ$ÃM>Ë$ Ææÿ*. 185 ¯èþVæü§æþ$ ç³#çÜ¢MæüÐèþ$$ÌZ çÜÇV> {ÐéÝëÆæÿ$ M>° ÝëVæüÆŠÿ ÐèþÅMìü¢Væü™èþ Rê™éÌZ 

yðþ¼sŒý ó̂þÄæý$yæþOÐðþ$¯èþ¨. 

e) ¿æýÐèþ¯éËOò³ ™èþÆæÿ$Væü$§æþË Ææÿ*. 1,000 ™èþÆæÿ$Væü$§æþË Rê™éÌZ ¯èþÐðþ*§æþ$ M>Ìôý§æþ$. 

f) ¿æýÐèþ¯éËOò³ Ðèþ$ÆæÿÐèþ$Ã™èþ$¢Ë$ Ææÿ*. 850 ¿æýÐèþ¯éË Rê™éÌZ è̄þÐðþ*O§ðþ¯èþ¨. 

Oò³ ™èþç³šË¯èþ$ çÜÇ¨§æþªyé°Mìü AÐèþçÜÆæÿÐèþ$Æÿ$$¯èþ _sêtç³§æþ$ªË$ {ÐéÄæý$…yìþ. 

 





 

 (DBCO 13) 

B.Com. DEGREE EXAMINATION, DEC. - 2015 

(Examination at the end of First Year) 

Part - II : COMMERCE 

 Paper – I : Industrial Organisation and Management 

Time : 03 Hours  Maximum Marks : 70 

                        Section - A (4 x 3 = 12) 

Answer any four of the following 

      

1) Industry. 

 ç³Ç{ÔèýÐèþ$. 

2) Employment. 

 E§øÅVæüÐèþ$$. 

3)  Privatisation. 

[ò³OÐóþsîýMæüÆæÿ×ý. 

4)  Joint Sector. 

 EÐèþ$Ãyìþ Ææÿ…VæüÐèþ$$. 

5)  Fixed capital. 

 íÜ¦Ææÿ Ðèþ$*Ë«§æþ¯èþÐèþ$$. 

6)  Aids to trade. 

 ÐèþÆæÿ¢Mæü çÜ§æþ$´ëÄæý*Ë$. 

7)  Authority. 

 A«̈ M>ÆæÿÐèþ$$. 

8)  Debenture. 

 yìþ»ñý…^èþÆæÿ$. 



 

                      Section - B (2 x 8 = 16) 

Answer any two of the following 

  9) Explain the partnership deed. What are its contents? 

 ¿êVæüÝëÓÐèþ$Å Jç³µ…§é°² ÑÐèþÇ…^èþ$Ðèþ$$. §é°ÌZ° ÑÑ«§æþ A…Ô>ÌôýÑ? 

10) State the various factors affecting the Industrialisation. 

 ´ëÇ{Ô>Ñ$MîüMæüÆæÿ×ý¯èþ$ {ç³¿êÑ™èþ… ó̂þõÜ ÑÑ«§æþ A…Ô>Ë$ ™ðþË$ç³#Ðèþ$$. 

11) What are the features of HUF? 

 AÑ¿æýMæü¢ íßý…§æþ* Mæü$r$…ºÐèþ$$ Ë„æü×êË$ HÑ$? 

12) What is Planning? Explain its advantages. 

 {ç³×êãMîüMæüÆæÿ×ý A è̄þV>¯óþÑ$? §é° {ç³Äñý*f¯éË$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

                     Section – C (3 x 14 = 42) 

Answer any three of the following 

13) Explain the different stages in formation of a company. 

 Mæü…ò³± Ýë¦ç³¯èþÌZ° ÑÑ«§æþ §æþÔèýË¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

14) Define Management. Explain its functions. 

 °ÆæÿÓçßý×ý è̄þ$ °ÆæÿÓ_…^èþ…yìþ. §é° Ñ«§æþ$Ë¯èþ$ ÑÐèþÇ… è̂þ…yìþ. 

15) Explain the various sources of finance. 

 ÑÑ«§æþ ÆæÿM>Ë Ñ™èþ¢ B«§éÆ>Ë è̄þ$ ÑÐèþÇ… è̂þ…yìþ. 

16) Explain the various advantages and disadvantages of Partnership firm. 

 ¿êVæüÝëÓÐèþ$Å ÐéÅ´ëÆæÿÐèþ$$ ÐèþËÏ MæüÍVóü ÑÑ«§æþ {ç³Äñý*f¯éË$ Ðèþ$ÇÄæý$$ ÌZ´ëË è̄þ$ ÑÐèþÇ… è̂þ…yìþ. 

17) What are the advantages and obstacles in delegation of authority? 

 A«̈ M>Ææÿ {ç³«§é¯èþÐèþ$$ÌZ° {ç³Äñý*f¯éË$ Ðèþ$ÇÄæý$$ Cº¾…§æþ$Ë$ HÑ$? 

18) Review the Industrial Policy of India. 

 ¿êÆæÿ™èþ§óþÔèý ´ëÇ{Ô>Ñ$Mæü Ñ«§é¯é°² çÜÒ$„ìü…^èþ…yìþ. 

 



 

(DBCO 14) 

B.Com. DEGREE EXAMINATION, DEC. - 2015 

(Examination at the end of First Year) 

Part – II : Commerce 

 Paper - I : Quantitative Techniques - I 

Time : 3 Hours  Maximum Marks : 70 

    

                        SECTION - A (4 × 3 = 12) 

Answer any four of the following 

1) Diagrams. 

 _{™èþç³sêË$. 

2) Matrix Inversion. 

 Ðèþ*{†Mæü ÑÌZÐèþ$Ðèþ$$. 

3) Range. 

 ÐéÅí³¢. 

4) Correlation. 

 çÜçßýçÜ…º…«§æþ…. 

5) Subset. 

 Eç³ çÜÑ$†. 

6) Quartiles. 

 ^èþ™èþ$Æ>®…ÔèýM>Ë$. 

7) Regression. 

 {ç³†VæüÐèþ$¯èþÐèþ$$. 

8) Progression. 

 {Ôóý×ìý. 



 

                      SECTION - B (2 × 8 = 16) 

Answer any two of the following 

9) Explain the classification. 

 ÐèþÈYMæüÆæÿ×ý¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

10) Find the skewness for the given data. 

 {Mìü…¨ C_a¯èþ §æþ™é¢…ÔèýÐèþ$$¯èþMæü$ OÐðþçÙÐèþ$ÅÐèþ$$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 

 Class 0-10 10-20 20-30 30-40 40-50 50-60 

 Frequency 8 12 18 30 20 10 

 

11) Find the coefficient of correlation for the given data. 

 {Mìü…¨ C_a¯èþ §æþ™é¢…ÔèýÐèþ$$¯èþMæü$ çÜçßýçÜ…º…«§æþ Væü$×ýMæüÐèþ$$¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 

 Price : 11 12 13 14 15 16 17 18 19 20 

 Supply : 30 29 29 25 24 24 24 21 18 15 

 
12) The sum of 3 numbers in AP is 210 and their product is 3,15,000. Find the numbers? 

 AP ÌZ 3 çÜ…QÅË Ððþ$$™èþ¢… 210, Ðésìý ËºªÐèþ$$ 3,15,000 AÆÿ$$™óþ B çÜ…QÅË¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 

                       SECTION - C (3 × 14 = 42) 

Answer any three of the following 

13) Explain types of sets. 

 çÜÑ$™èþ$Ë ÆæÿM>Ë è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

14) From the following data calculate Mean, Median and Mode. 

 {Mìü…¨ §æþ™é¢…ÔèýÐèþ$$ è̄þ$…yìþ A…MæüÐèþ$«§æþÅÐèþ$Ðèþ$$, Ðèþ$«§æþÅVæü™èþ…, ºçßý$âæýMæü… Mæü¯èþ$MöP…yìþ. 

 Class 10-19 20-29 30-39 40-49 50-59 60-69 

 ™èþÆæÿVæü† 

 Frequency 4 16 56 97 40 10 

 ´û¯èþ: ç³#¯èþÅÐèþ$$  

 



 

 

15) Find out the regression equations from the following data. 

 C_a¯èþ §æþ™é¢…ÔèýÐèþ$$¯èþMæü$ {ç³†VæüÐèþ$¯èþ çÜÒ$MæüÆæÿ× Ðèþ$$Ë¯èþ$ Mæü¯èþ$MöP…yìþ. 

 Age of Husband : 18 19 20 21 22 23 24 25 26 27 

 ¿æýÆæÿ¢ ÐèþÄæý$çÜ$Þ 

 Age of Wife : 17 17 18 18 18 19 19 20 21 22 

 ¿êÆæÿÅ ÐèþÄæý$çÜ$Þ 

 

 

16) Find the Bowley’s coefficient of skewness from the following data. 

 C_a¯èþ §æþ™é¢…ÔèýÐèþ$$ ¯èþ$…yìþ »oÌôý OÐðþçÙÐèþ$Å Væü$×ýMæüÐèþ$$¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 

 Class 0-10 10-20 20-30 30-40 40-50 50-60 60-70 

 ™èþÆæÿVæü† 

 Frequency 4 8 11 15 12 6 3 

 ´û¯èþ: ç³#¯èþÅÐèþ$$  

 

17) Find the Inverse of  

 ÑÌZÐèþ$ Ðèþ*{†Mæü¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 

 

1 2 3

A 4 5 6

1 2 2

 

 

18) Describe the statistical system followed in India. 

 ¿êÆæÿ™èþ§óþÔèýÐèþ$$ÌZ ´ësìý… ó̂þ Væü×ê…Mæü ç³§æþ®™èþ$Ë$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

 

 







